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IWBHA HA OCMAHCKbLI-T'5 MOMETbI.

OCMaHCKBI-TRU 3AATHBI MOHETH! (MepxHAle) c& oth 9167
npo6x cupbub HA XBLAHAO-TO MO TErA0 HMA 619"/, unero saato
n 83"/, mBap; a cpbOpoRm-TE MoHeTR MepKHAle c&® OTH
830-t& npo6s capbub ma xbLAAx0-TO MO Terao nma 830 wnero
cph6po u TO mbas.

Bbcs wa megmuiema-ma wo wypck s w wo Ppan-
yy3ckm Hlpol.
3.1aTHBR: rp. APaMOBe KpaTOoBe rpam. MHAAHID.

1  wmepxupie ors 500 11 v 4% 36 80
1 . 5 » 2b0 5 , 10 18 ,, 40
I \ » 100 2 , 4 7 ., 216
A 5 » 50 1, 2 3 , 608
Yoo om 2 y » 804
cpbOpbHBI:
1 » » bb
1 » » 27
1 \ - 13
1 - » 405
1 " » 202
1 - » 0601
Ha saatunr AH 44 rp. n I8
u. a Ha cphoper ndn
1 kamraps 44 OKn1; oka — 400 apama; 1 apams

2
= 16 xpara; 1 kpars — 32 spena.
1 oka e pasua c¢n» 1 kmaorpamms n 283 rpamma u 945
muanrpamma (1 kma., 283945).
1 apams = 3 rpamma n 207 Muanrpamma.
1 xpats = 200 muaurpamma (0,200).

IMBPbI 3A ANDBIRUHX.

1 apmurs = 8 py6a; 1 py6s = cn 2 rpexa.

1 apmmns e pasens eb 0,75 ors MeTpa; no ToBa 1 Merps
HAE paBeEs cb 1'/, apmmns.

1 aakwTh (enpase) e pasens ¢b 0,67 Merpn,
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